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Question Label : Comprehension



Forty-one children were on Wednesday rescued from 12 toy factories in southwest Delhi's Azad Market.
Police sealed the factories on Ram Bagh Road and booked their owners.

The rescue operation was jomtly condueted by Bachpan Bachao Andolan (BBA). SDM (Kotwali) Daryagany.
the labour department. Bal Vikas Dhara and Delhi Police. All children are aged between 13 and 17 years and
belong to states like Bihar, JTharkhand and West Bengal.

The rescue teams said the children were living in "horrible” conditions. According to a member, "their clothes
were torn, and they were starved and overworked".

A 13-year-old boy, originally form West Bengal. said he and the other children would start their day around
9am and work t1ll 12 midnight—a gruelling 15 hours each day making toy parts at the factories. Afterwards,
they used to sleep in a cramped space inside the factory.

Terming it "a shame for the society”. BBA director Manish Sharma said, "Even after decades for achieving
mdependence. we haven't been able to free our kids from child labour. Children who should have been playing
with toys are making toys and working as slaves. Such incidents should make us all ashamed and angry."

In February this year. about 30 children working in various toy manufacturing units were rescued from
Wazirpur Industrial Area in northwest Delhi. Following this, Delhi high court had directed that a committee be
tormed under the supervision of the Delhi chief secretary and district DCPs. m close coordination with the
labour and women and child welfare departments and MCD., to inspect the premises of units that employed
child labourers.

Sub questions

Question Number : 1 Question Id : 68634021060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 15 the full form of BBA according to the given paragraph?
1. Bachao Bachpan Andolan
2. Bachpan Bachao Andolan
3. Bacha Bachao Andolan

4. Bachpana Bachao Andolan

Options :

68634083201. 1
68634083202. 2
68634083203. 3
68634083204. 4

Question Number : 2 Question Id : 68634021061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In what sense the word cramped is being used in this paragraph

1. Pamnful involuntary contraction of muscles

2

. Abdominal pain
3. Uncomfortably small or crowded

4. A tool, typically shaped like a capital G

Options :

68634083205. 1
68634083206. 2
68634083207. 3
68634083208. 4

Question Number : 3 Question Id : 68634021062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the opposite of the word 'gruelling' from the options given below?
1. Demanding
2. Relaximng
3. Grudgmng

4. Grubby

Options :

68634083209. 1
68634083210. 2
68634083211. 3
68634083212. 4

Question Number : 4 Question Id : 68634021063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of 'coordination’ s :

1. Ability to move in one direction.

2

. Ability to join different parts to form a picture.

Lad

. Ability to move different parts of the body smoothly and at the same tune.

4. To divide the atoms into its consitutent parts

Options :

68634083213. 1
68634083214. 2
68634083215. 3
68634083216. 4



Question Number : 5 Question Id : 68634021064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Child labour 1s prevalent even after decades and this 1 according to this passage.

1. A shame for our society.

[

. Shame for independent India.
3. Share for Delhi national capital

4. Shame for North-West Dellu

Options :

68634083217. 1
68634083218. 2
68634083219. 3
68634083220. 4

Question Id : 68634021059 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Forty-one children were on Wednesday rescued from 12 toy factories in southwest Delhi's Azad Market.
Police sealed the factories on Ram Bagh Road and booked their owners.

The rescue operation was jointly conducted by Bachpan Bachao Andolan (BBA). SDM (Kotwali) Daryagan;.
the labour department. Bal Vikas Dhara and Delhi Police. All children are aged between 13 and 17 years and
belong to states like Bihar. Tharkhand and West Bengal.

The rescue teams said the children were living in "horrible” conditions. According to a member, "their clothes
were torn, and they were starved and overworked".

A 13-year-old boy, originally form West Bengal. said he and the other children would start therr day around
Oam and work till 12 midnight—a gruelling 15 hours each day making toy parts at the factories. Afterwards.
they used to sleep in a cramped space inside the factory.

Terming it "a shame for the society”. BBA director Manish Sharma said, "Even after decades for achieving
mdependence. we haven't been able to free our kids from child labour. Children who should have been playing
with toys are making toys and working as slaves. Such incidents should make us all ashamed and angry."

In February this year, about 30 children working in various toy manufacturing units were rescued from
Wazirpur Industrial Area in northwest Delhi. Following this, Delhi high court had dirscted that a commuttee be
tormed under the supervision of the Delhi chief secretary and district DCPs. in close coordination with the
labour and women and child welfare departments and MCD. to inspect the premises of units that employed
child labourers.

Sub questions

Question Number : 1 Question Id : 68634021060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

What 15 the full form of BBA according to the given paragraph?

1. Bachao Bachpan Andolan

[

. Bachpan Bachao Andolan
3. Bacha Bachao Andolan

4. Bachpana Bachao Andolan

Options :

68634083201. 1
68634083202. 2
68634083203. 3
68634083204. 4

Question Number : 2 Question Id : 68634021061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what sense the word cramped is being used in this paragraph

1. Painful involuntary contraction of muscles

2

. Abdominal pain
3. Uncomfortably small or crowded

4. A tool, typically shaped like a capital G

Options :

68634083205. 1
68634083206. 2
68634083207. 3
68634083208. 4

Question Number : 3 Question Id : 68634021062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the opposite of the word 'gruelling' from the options given below?
1. Demanding
2. Relaxmg
3. Grudgmmg

4. Grubby

Options :

68634083209. 1
68634083210. 2
68634083211. 3



68634083212. 4

Question Number : 4 Question Id : 68634021063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of 'coordination’ 1s :

1. Ability to move in one direction.

[

. Ability to join different parts to form a picture.
3. Ability to move different parts of the body smoothly and at the same tune.

4. To drvide the atoms into its consitutent parts

Options :

68634083213. 1
68634083214. 2
68634083215. 3
68634083216. 4

Question Number : 5 Question Id : 68634021064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Child labour is prevalent even after decades and this 1s according to this passage.

1. A shame for our society.

2

. Shame for independent India.
3. Share for Delli national capital

4. Shame for North-West Dellu

Options :

68634083217. 1
68634083218. 2
68634083219. 3
68634083220. 4

Sub-Section Number : 2
Sub-Section Id : 686340690
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634021065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the antonym of 'Plenty’.

1. paucity

2

. multiply
3. conclude

4. richness

Options :

68634083221. 1
68634083222. 2
68634083223. 3
68634083224. 4

Question Number : 6 Question Id : 68634021065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pick out the antonym of 'Plenty".

1. paucity

[

. multiply
3. conclude

4. richness

Options :

68634083221. 1
68634083222 2
68634083223. 3
68634083224. 4

Question Number : 7 Question Id : 68634021066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of underlined 1diom 1n the following sentence.
Though she is a rich lady. she should cut down her expenses.

1. increase

| B

. reduce
3. borrow

4. lose

Options :
68634083225. 1
68634083226. 2



68634083227. 3
68634083228. 4

Question Number : 7 Question Id : 68634021066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of underlined 1diom in the following sentence.
Though she 1s a rich lady, she should cut down her expenses.

1. merease

2. reduce

3. borrow

4, lose

Options :

68634083225. 1
68634083226. 2
68634083227. 3
68634083228. 4

Question Number : 8 Question Id : 68634021067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence.

The house was broken into at midnight by the thieves.

1. The thief broke into the house at midnight.

| S

. The thieves have broken the house at midnight.
3. At midnight the thieves had broken the house.

4. The thieves broke into the house at midnight.

Options :

68634083229. 1
68634083230. 2
68634083231. 3
68634083232. 4

Question Number : 8 Question Id : 68634021067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct active voice form of the following sentence.

The house was broken into at midnight by the thieves.

1. The thief broke into the house at midnight.

[

. The thieves have broken the house at midnight.
3. At midnight the thieves had broken the house.

4. The thieves broke into the house at midnight.

Options :

68634083229. 1
68634083230. 2
68634083231. 3
68634083232. 4

Question Number : 9 Question Id : 68634021068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the synonym of the following word :
ludicrous

1. ridienlous

[

. ereditable
3. humorous

4. serious

Options :

68634083233. 1
68634083234. 2
68634083235. 3
68634083236. 4

Question Number : 9 Question Id : 68634021068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the synonym of the following word :

ludicrous
1. ridiculous
2. creditable
3. humorous

4, serious

Options :

68634083233. 1
68634083234. 2
68634083235. 3
68634083236. 4

Question Number : 10 Question Id : 68634021069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identity the part of speech of the underlined word in the following sentence :
Are there any witnesses present ?
1. Article
2. Adjective
3. Adverb
4. Verb

Options :

68634083237. 1
68634083238. 2
68634083239. 3
68634083240. 4

Question Number : 10 Question Id : 68634021069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the part of speech of the underlined word in the following sentence :
Ave there any witnesses present ?

1. Article

[

. Adjective
3. Adverb
4, Verb

Options :

68634083237. 1
68634083238. 2
68634083239. 3
68634083240. 4

Question Number : 11 Question Id : 68634021070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s true about Anti-Defection Law ?
1. It was added as the 11th Schedule in the Constitution
2. It was added through 85th Constitutional Amendment Act

3. It was added as the 10th Schedule in the Constitution

4. Tt was added through 50th Constitutional Amendment Act

Options :

68634083241. 1
68634083242. 2
68634083243. 3
68634083244. 4

Question Number : 11 Question Id : 68634021070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 1s true about Anti-Defection Law ?
1. It was added as the 11th Schedule in the Constitution
2. It was added through 85th Constitutional Amendment Act

3. It was added as the 10th Schedule in the Constitution

4, It was added through 50th Constitutional Amendment Act

Options :

68634083241. 1
68634083242. 2
68634083243. 3
68634083244. 4

Question Number : 12 Question Id : 68634021071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MecMahon line marks the boundary of which two countries ?

1. China and Palastan

[ 2]

. China and India
3. USA and Canada

4. India and Bangladesh

Options :

68634083245. 1
68634083246. 2
68634083247. 3
68634083248. 4

Question Number : 12 Question Id : 68634021071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MecMahon line marks the boundary of which two countries ?

1. China and Palastan

[ 2]

. China and India
3. USA and Canada

4. India and Bangladesh

Options :
68634083245. 1



68634083246. 2
68634083247. 3
68634083248. 4

Question Number : 13 Question Id : 68634021072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[Kiran Desai [. Pnanapith Award
A run Alcash Dev II. MMan Booker Prize

F.abindranath Tagore| II1. |Sahitva Akadem: Award
Nilamani Phookan | IV. [Nobel Prize for Literature

|0 =]

Choose the correct answer from the options given below:

1. A-II. B-1., C-IV. D-III

[ )

CA-ITL B-L C-IV, D-II

AL B-IIIL C-IV, D-1

L ¥ ]

4. A-IIL. B-IV. C-I, D-II

Options :

68634083249. 1
68634083250. 2
68634083251. 3
68634083252. 4

Question Number : 13 Question Id : 68634021072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
. [Kiran Desai [. Pnanapith Award
A run Alcash Dev II. MMan Booker Prize
F.abindranath Tagore| II1. |Sahitva Akadem: Award
. [Nilamani Phookan | IV. [Nobel Prize for Literature

o| ||

Choose the correct answer from the options given below:

1. A-II. B-1, C-IV. D-III

[ )

CA-ITL B-L C-IV, D-II

AL B-IIIL C-IV, D-1

L ¥ ]

4. A-IIL. B-IV. C-I, D-II

Options :

68634083249. 1
68634083250. 2
68634083251. 3
68634083252. 4

Question Number : 14 Question Id : 68634021073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; One 1s lebelled as Assertion A and the other 15 labelled as Reason R.
Assertion A : One loses a day when he/she crosses 180° longitude east to west.

Reason R : The sun rises in the east and sets in the west and two places that are 15 degree of longitude apart
have a difference of 1 hour.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

| B

. Both A and R are true but R 1s not the correct explanation of A
3. A is true but R 1s false

4, A 1s false but R is true

Options :

68634083253. 1
68634083254. 2
68634083255. 3
68634083256. 4

Question Number : 14 Question Id : 68634021073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Griven below are two statements ; One 1s lebelled as Assertion A and the other 15 labelled as Reason R.
Assertion A : One loses a day when he/she crosses 180° longitude east to west.

Reason R : The sun rises in the east and sets in the west and two places that are 15 degree of longitude apart
have a difference of 1 hour.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true but R 1s not the correct explanation of A
3. A is true but R 1s false

4, A 1s false but R is true

Options :

68634083253. 1
68634083254. 2
68634083255. 3
68634083256. 4

Question Number : 15 Question Id : 68634021074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Indus Valley sites is located in Pakistan ?

1. Harappa

[

. Alamgirpur
3. Kalibangan

4. Lothal

Options :

68634083257. 1
68634083258. 2
68634083259. 3
68634083260. 4

Question Number : 15 Question Id : 68634021074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Indus Valley sites is located in Pakistan ?

1. Harappa

2

. Alamgirpur
3. Kalibangan

4. Lothal

Options :

68634083257. 1
68634083258. 2
68634083259. 3
68634083260. 4

Question Number : 16 Question Id : 68634021075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are six statements, followed by four options of combinations of any three of the given sentences.
Choose the option 1n which the combinations are logically related :

A. All martians eat mutton.

B. All those who eat mutton are not Martians.
C. All those who eat mutton are herbitvorous.
D. Martians are carnivorous.

E. All those who eat mutton are carnivorous.
F. Martians are herbivorous.

1.LA.B.E
2.B.C.E
3 AED
4 A E.D

Options :

68634083261. 1
68634083262. 2
68634083263. 3
68634083264. 4

Question Number : 16 Question Id : 68634021075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are six statements. followed by four options of combinations of any three of the given sentences.
Choose the option in which the combinations are logically related :

A. All martians eat mutton.

B. All those who eat mutton are not Martians.
C. All those who eat mutton are herbitvorous.
D. Martians are carnivorous.

E. All those who eat mutton are carnivorous.
F. Martians are herbivorous.

1. A.B.E
2.B.C.E
3JACD
4 AE.D

Options :

68634083261. 1
68634083262. 2
68634083263. 3
68634083264. 4

Question Number : 17 Question Id : 68634021076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deepak 13 Jaideep's son and Gomti's brother. Maya 1s Gomti's mother and Jyoti's daughter. Which of the
statements below 1s true?

1. Jyot1 1s Deepak's mother-in-law

[ ]

. Maya 1s Jaideep's mother

L 5]

. Jyoti 18 Jaideep's grandmother

s

. Jyoti 13 Deepak's grandmother

Options :

68634083265. 1
68634083266. 2
68634083267. 3
68634083268. 4

Question Number : 17 Question Id : 68634021076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deepak 15 Jaideep's son and Gomti's brother. Maya 1s Gomti's mother and Jyoti's daughter. Which of the
statements below is true?

f—

. Jyoti 13 Deepak's mother-in-law

. Maya 13 Jaideep's mother

[}

. Jyoti 15 Jaideep's grandmother

LFN]

4. Jyoti 1s Deepak's grandmother

Options :

68634083265. 1
68634083266. 2
68634083267. 3
68634083268. 4

Question Number : 18 Question Id : 68634021077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Priya walks 5 metre towards west, takes a right turn and walks 5 meter again. She then takes another right tun
and walks 41 metres. She then takes a left turn and walks 43 metres before stopping. How far is she from the
starting point?

1. 80 metres

[

. 65 metres
3. 50 metres

4, 60 metres

Options :

68634083269. 1
68634083270. 2
68634083271. 3
68634083272. 4

Question Number : 18 Question Id : 68634021077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Priva walks 5 metre towards west, takes a right turn and walks 5 meter again. She then takes another right turn
and walks 41 metres. She then takes a left turn and walks 43 metres before stopping. How far is she from the
starting point?

1. 80 metres

[

. 65 metres

3. 50 metres

4, 60 metres



Options :

68634083269. 1
68634083270. 2
68634083271. 3
68634083272. 4

Question Number : 19 Question Id : 68634021078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will come 1n place of (?) in the series.
1,4,3,9,5,16,7,25,9,36,11, 7

1. 39

| )

.47
3.51
4. 49

Options :

68634083273. 1
68634083274. 2
68634083275. 3
68634083276. 4

Question Number : 19 Question Id : 68634021078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will come in place of (?) in the series.
1.4,3.9.5,16,7.25.9. 36,11, 7

1. 39

| ]

.47
3.51
4.49

Options :

68634083273. 1
68634083274. 2
68634083275. 3
68634083276. 4

Question Number : 20 Question Id : 68634021079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certaimn code language.
"Darsha bought new car” 1s written as "as ho mv st"
"Darsha and Sudha siblings" is written as "ua as nc gs"
"Sudha bought new bike" 1s written as "ua mv ho ik"
"Car and Bike super” is written as "ik nc st pu”
Which of the following is the code for "Darsha Bike Super" 7
1. gs ik ne
2. as ik pu
3. ho ik as
4, as ik ph
Options :
68634083277. 1
68634083278. 2

68634083279. 3
68634083280. 4

Question Number : 20 Question Id : 68634021079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code language.
"Darsha bought new car” is written as "as ho mv st”
] 4 2 2 "o ik " n
Darsha and Sudha siblings" 1s written as "ua as ne gs
"Sudha bought new bike" 1s written as "va mv ho ik"
"Car and Bike super” is written as "ik ne st pu"
Which of the following is the code for "Darsha Bike Super" 7
1. gs itk ne
2. as ik pu
3. ho ik as
4. as ik ph

Options :

68634083277. 1
68634083278. 2
68634083279. 3
68634083280. 4



Question Number : 21 Question Id : 68634021080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A single 6-sided dice 1s rolled, then the probability of getting an odd number 1s -
1.172
2.1/3

.

L8]

4.1/12

Options :

68634083281.
68634083282.
68634083283.
68634083284.

W N =

Question Number : 21 Question Id : 68634021080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A single 6-sided dice 1s rolled, then the probability of getting an odd mumber 1s -
1.1/2
2.1/3
316
4.1/12

Options :

68634083281.
68634083282.
68634083283.
68634083284.

AW N ==

Question Number : 22 Question Id : 68634021081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 49 students, the ratio of girls to boys 1s 4:3. If 4 girls leave the class, the ratio of girls to boys
would be -

1. 7:9

[

.78

87

LFS]

4. 89



Options :

68634083285. 1
68634083286. 2
68634083287. 3
68634083288. 4

Question Number : 22 Question Id : 68634021081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 49 students, the ratio of girls to boys 1s 4:3. If 4 girls leave the class, the ratio of girls to boys
would be -

1. 7:9

[

.78
3. 8.7
4. 8:9

Options :

68634083285. 1
68634083286. 2
68634083287. 3
68634083288. 4

Question Number : 23 Question Id : 68634021082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If income of A 1s 20% more than that of B. then income of B 18 how much percent less than that of A?

1. 10%

[ 2]

. 20%

3
3. 16=%
2

2
4. 16=%
3

Options :

68634083289. 1
68634083290. 2
68634083291. 3
68634083292. 4

Question Number : 23 Question Id : 68634021082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If income of A is 20% more than that of B. then income of B 18 how much percent less than that of A?

1. 10%

2

. 20%

3
3. 16="%
2

2
4. 16=%
3

Options :

68634083289. 1
68634083290. 2
68634083291. 3
68634083292. 4

Question Number : 24 Question Id : 68634021083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive odd positive integers 1s 9. Then sum of smallest and greatest number 1s -
1.4

2.3

4. 13

Options :

68634083293. 1
68634083294. 2
68634083295. 3
68634083296. 4

Question Number : 24 Question Id : 68634021083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive odd positive integers 1s 9. Then sum of smallest and greatest number i1s -
1.4

2.5

4. 13

Options :
68634083293. 1



68634083294. 2
68634083295. 3
68634083296. 4

Question Number : 25 Question Id : 68634021084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2.5 x =0.05 v, then find the value of [ 2 ] .
y+x

..
51

49
3l

_L_J

Options :

68634083297. 1
68634083298. 2
68634083299. 3
68634083300. 4

Question Number : 25 Question Id : 68634021084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2.5 x =0.05 y, then find the value of [ 2= ] .

y+x

.
51

49
51

_L_.l

Options :

68634083297. 1
68634083298. 2
68634083299. 3



68634083300. 4

Part B: Dev and Labour studies

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

686340418
2

Online
Mandatory
75

75

300

Yes

0

1
686340691
Yes

null

Question Number : 26 Question Id : 68634021085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the International Labour Organisation (ILOSTAT, 2022). globally. women remain less likely than
men to participate in the labour market. However which of the following regions have the lowest female

labour force participation rate?

1. Western and Northern Africa

| )

3. Oceama excluding Australia and New Zealand

4, Central and Southern Asia
Options :
68634083301. 1
68634083302. 2
68634083303. 3
68634083304. 4

. Latin America and the Caribbean

Question Number : 26 Question Id : 68634021085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRRPTY 91 TS (ILOSTAT, 2022) & SR, 3% =49 ¥ Higarsi S 41 SR § YFER] goul &1
3tten andt oft 1 71 iR o PrafarfEa & 3 fovm & &t afgen yfrs sa wrfieft RAaa &

1. OfEEdt 3R 3T st

| )

L]

.94 Ud f&uit ufemn

e



Options :

68634083301. 1
68634083302. 2
68634083303. 3
68634083304. 4

Question Number : 27 Question Id : 68634021086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Percentage share of the primary. secondary, tertiary respective in GDP of India during 1950-51.

A1

1.5%2 133 2%

L]

| ]

.15.6 248 596
3:302. 233 3606

4.54.8 16.6 28.6
Options :
68634083305. 1
68634083306. 2
68634083307. 3
68634083308. 4

Question Number : 27 Question Id : 68634021086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA BI Sfeidl & 1050-51 & SRM WU, Gdue. qiae S ufiwa sug: b am

1.382 133 2%

h
L

| ]

156 248 596
3.39.2 233 366

4.548 166 2806
Options :
68634083305. 1
68634083306. 2
68634083307. 3
68634083308. 4

Question Number : 28 Question Id : 68634021087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



National Income Estimates in India are prepared by :

1. Niti Aayog

| )

. Reserve Bank of India
3. Central Statistical Organisation

4, Indian Statistical Institute
Options :
68634083309. 1
68634083310. 2
68634083311. 3
68634083312. 4

Question Number : 28 Question Id : 68634021087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA H AP 319 BT Hiap i [Hafaiad 8§ J g gRI 61 ol g2
1. ifa smam
2. HRdHg o d%
3. 50 GiRg® | 6
4. YRAG FiReosm! T=I=
Options :
68634083309. 1
68634083310. 2

68634083311.3
68634083312. 4

Question Number : 29 Question Id : 68634021088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): The concept of "Political Culture” refers to the shared values. beliefs and attitudes that shape
political behaviour within society.

Reason (R): Political culture influences how individuals perceive and interact with political institutions and
processes.

In the light of the above statements, choose the correct answer from the options given below:

ot

. Both (A) and (R) are true and (R) 1s the correct explanation of (A)

2

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)

s

. (A) 15 true but (R) is false

4. (A) 1s false but (R) is true
Options :



68634083313. 1
68634083314. 2
68634083315. 3
68634083316. 4

Question Number : 29 Question Id : 68634021088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=2 gt vy Ry e 3: te sifiey= (4) F wo 8 i@ § 9 g Sud oRuT () F U H;

HTUTU (4): ﬂﬁ#%ﬁﬂ?ﬁ%iﬁ%ﬂwﬂﬂﬂﬁﬂﬂw|ﬁ%ﬁﬁ@ﬁa#Mﬁmﬁﬁﬂﬁ@H%Gﬁﬁﬂﬁ
TaTe § Ie-Hiad® sIaeR &1 SR WeH (Rfia) sar gl

BRI (R): mﬁﬁ%ﬂﬁ?ﬁﬁﬁwﬁaﬁ?mﬁﬁ YT UG Sl SR . AoHI0®
el 34 wuIfad Bl g

SWRIT HYA & SHTd® 1, 1 48 T fTdedi 7 3 I SUad SR &1 90 $I1o18;
(&) 3R (R) TFT T8I § 3R (R). (A) BT TEI AR ©
(A) 3R ®) TFT 981 € AfdH (R). (A) FT S TR 16t §

(A) TRl g dPH (R) Tel T8l &

—t

| )

[#5]

4.(A) TSI TS OB H (R) TRl &
Options :
68634083313, 1
68634083314. 2
68634083315.3
68634083316. 4

Question Number : 30 Question Id : 68634021089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the correct answer:

According to most recent data poverty ratio is the lowest in:

1. Assam

[ ]

. West Bengal
3. Kerala

4, Tamil Nadu
Options :
68634083317. 1
68634083318. 2
68634083319. 3
68634083320. 4

Question Number : 30 Question Id : 68634021089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

FaTe® 7a1 Sfids! & IR 9ad & RdAa R Bl 31 52
1. 39

& ST

3. PRd

4. dffe 13
Options :
68634083317. 1
68634083318. 2
68634083319. 3
68634083320. 4

-2

Question Number : 31 Question Id : 68634021090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A key program to engage returing migrants. part of the fifth tranche of the stimulus package of the
Government of India's Atma Nirbhar program was, announced by the Finance Mimister in May 2020 was -

1. Encouraging employment under the National Rural Employment Guarantee Act.

| ]

. Immediate expansion of Small and Medium Enterprises
3. Easing of labour laws in favour of businesses

4. Announcement of a new National Public Enterprises Policy
Options :
68634083321. 1
68634083322.2
68634083323. 3
68634083324. 4

Question Number : 31 Question Id : 68634021090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafEad ¥ 9 YR WoR & IRk o1dea & e Uey ©f tg9d feg & Tu d 13 2020 H fag A=t
GRT IS a9y cle- aTd Jaliad| & o H T o (o0 9 Sdrisd T

1. ST Al AR TR $fAfas & siarid AR B gicnfed &1

2. 7Y Ud HeH FHI & dabld [EdR Bl

3. OGHT & U4 H 485 BT D JH &1
4, T3 AP WSS FeH il &1 GINU Bl

Options :
68634083321. 1
68634083322. 2



68634083323. 3
68634083324. 4

Question Number : 32 Question Id : 68634021091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Annthiliation of Caste' was written by:

1. Jyotiba Phule

-J

. Mahadev Govind Ranade

L¥ 5]

. Arundhati Roy

4. B. R. Ambedkar
Options :
68634083325. 1
68634083326. 2
68634083327. 3
68634083328. 4

Question Number : 32 Question Id : 68634021091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TERH 1% SR IH® b ot o
1. Saifoan Ba

. HeTed Tifd= I[rs

[ )

3. 3pufa ™

4. 1. 3R TSP
Options :
68634083325. 1
68634083326. 2
68634083327. 3
68634083328. 4

Question Number : 33 Question Id : 68634021092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
& Kibsartsee I Percentage of labour force that s
unemployed
Those who are not employed, were
B. [Unemploved II. lvailable for work and looking for
vork
[abour force participation Total number of workers, including
C. 118
rate both emploved and unemploved
] e v ?e_rcenrage of adult population that
is in the labour force

Choose the correct answer from the options given below:

1. A-TII. B-I1. C-IV, D-I

|

CA-L B-IL C-III. D-IV
3. A-IL B-III. C-IV, D-I

4, A-IIIL. B-1. C-II. D-IV
Options :
68634083329. 1
68634083330. 2
68634083331. 3
68634083332. 4

Question Number : 33 Question Id : 68634021092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 161 gH! 11 U e ifor
Gl I
A lyEEd 1. [RISFIR QT & 49 &d &1 Uia=d
- d ol FEiod T8l 6. d @Y & U JUas ¥ 3R &
B - CGNEEREER)
G sTEIfaRd i Friferd Ud sRISR gl @i [Hald? SETRI @t
D. [SRIERI e |1V |3[ 9 § fid 30 99 & Uided

frafeiad famedl § 3 Hel I &1 99 S -
1. A-IIL, B-1I1. C-IV. D-I
2. A-I. B-II. C-II1. D-IV
3. A-I1, B-IIIL. C-IV. D-1
4. A-IIT. B-1. C-II. D-IV
Options :
68634083329. 1

68634083330. 2
68634083331. 3



68634083332. 4

Question Number : 34 Question Id : 68634021093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following schemes was launched by the Government of India in 2014 for labour reforms?

1. Sankalp

| )

. Shramev Jayate
3. Shram Uday

4, Shram Abhyuday
Options :
68634083333. 1
68634083334. 2
68634083335. 3
68634083336. 4

Question Number : 34 Question Id : 68634021093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9T YR & [0 URT IRBR gR1 T 2014 T 3RY B 775 A1 Hafeiad 4 9 o i g2
1. P

. Y0g Sad

| ]

3. 4H3cq

4. 57 ey
Options :
68634083333. 1
68634083334. 2
68634083335. 3
68634083336. 4

Question Number : 35 Question Id : 68634021094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
D R. Gadgil 1. |Poverty and un-British Rule
Dadabhai Naorojy II. [Famines in India
B M. Bhatia ITT. |The Industrial evolution of India
Tawaharlal Nehru| IV, [Discovery of India

=l o] 1] I

Choose the correct answer from the options given below:

1. A-I. B-1I. C-II1. D-IV

[ ]

AL B-IV. C-III. D-I
3. AL B-1, C-I1, D-IV

4. A-IV. B-II1. C-I1. D-I
Options :
68634083337. 1
68634083338. 2
68634083339. 3
68634083340. 4

Question Number : 35 Question Id : 68634021094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 11 a1 H e Sifore

T I T
51 R S| 1. [Urad U sHfaiew $d
CIGIYTS ARTel | 11 [(HS-g 54 2faa
|ioa v |11 [§ Seiead SalegeH A% 5]
AR 1% IV. [[SThad] 3% 3isdl

o[a]w]s

FgfeaRad [deedl O 9 U8l SR &1 994 Dife ;

1. A-I. B-1I, C-IIT, D-IV

[ ]

CA-IL B-IV, C-II1. D-1

AL B-1L C-IT, D-IV

Lad

4. A-IV. B-II1. C-II. D-1
Options :
68634083337. 1
68634083338. 2
68634083339. 3
68634083340. 4

Question Number : 36 Question Id : 68634021095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Andre Beteille's published book in 1965 on 'Class. Caste and Power' looks at the patterns of stratification in a
village of-

1. Andhra Pradesh

| ]

. Maharastra
3. Uttar Pradesh

4, Tamil Nadu
Options :
68634083341. 1
68634083342. 2
68634083343. 3
68634083344. 4

Question Number : 36 Question Id : 68634021095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I, S SR T Haedt 9 1965 T W11 GRae 4 aiis dd A FafaiEga o 9 Sel & U@ 71id &1 &R0l
el TR faaR uqa faar up

1. T8 TS

3. 3R W™

4. difie g
Options :
68634083341. 1
68634083342. 2
68634083343. 3
68634083344. 4

2

Question Number : 37 Question Id : 68634021096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is correct for a descending order in Total Fertility Rate (TFR) for year 2018, for various Indian States.

1. Bihar, Karnataka. Uttar Pradesh. West Bengal

| )

. Uttar Pradesh. Bihar. Karnataka. West Bengal
3. Bihar, Uttar Pradesh. West Bengal, Karnataka

4. Uttar Pradesh, Himachal Pradesh. Bihar, Haryana
Options :
68634083345. 1
68634083346. 2
68634083347. 3
68634083348. 4



Question Number : 37 Question Id : 68634021096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafirs yReg el Bt gy 2018 BT P Yol a2 & Hale! P & da ¥ FafefEd d 3 o5F 91 98 g°
1. &R, Fies. = Haw. uiEy §e

IR UeH, 48R, Hicd, uigH s

4. 3R Yo, ferma wew, foeR. ghamn

Options :

68634083345. 1
68634083346. 2
68634083347. 3
68634083348. 4

| )

[F ]

Question Number : 38 Question Id : 68634021097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which year was the National Food Security Act, Passed -

1. 2005

[

. 2009
3.2013

4.2014
Options :
68634083349. 1
68634083350. 2
68634083351. 3
68634083352. 4

Question Number : 38 Question Id : 68634021097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST e YR& SUfaH fod gy uied g um

1. 2005

[ ]

. 2000
3.2013

4. 2014
Options :
68634083349. 1
68634083350. 2



68634083351. 3
68634083352. 4

Question Number : 39 Question Id : 68634021098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct one related with Pre-Independence working class movements

A, All India Trade Union Congress (AITUC)
B. The Trade Union Act

C. The Trade Disputes Act

D. Meerut Conspiracy Case

Choose the correct answer from the options given below:

1. A.B. C only

| )

.A.B.C.D only
3.B,C, D only

4.C.D. A only
Options :
68634083353. 1
68634083354. 2
68634083355.3
68634083356. 4

Question Number : 39 Question Id : 68634021098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e qd @t Sieramt 3 Saftd Fafifaa § S sawadi &

A. 31dT 37801 €8 gHT SIUY (AITUC)
B. HuigX 94 gy

C. y¥ faare sfufag

D. U6 9544 9

i feu U fam el & ¥ 9ad SUgad SR &1 98- SHIfe:
1. PAU A, B, C

. $JAA,B.C.D

. $4ad B, C.D

4.%da C.D.A

Options :

68634083353. 1
68634083354. 2
68634083355. 3
68634083356. 4

| )

L]



Question Number : 40 Question Id : 68634021099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Role I. |a number or roles attached to a single status
B. [Role Conflict | II. incompatibility among roles corresponding to a single status
C. JRole Set II1. [Behaviour expected from a particular status
D._ [Role Strain IV |Incompatibility among roles corresponding to have more status

Choose the correct answer from the options given below:

1. A-IL. B-II1. C-IV, D-I

[ ]

CA-L B-IL C-III, D-IV

Lad

AL B-IV., C-1. D-II

4. A-IV. B-1. C-II. D-III
Options :
68634083357. 1
68634083358. 2
68634083359. 3
68634083360. 4

Question Number : 40 Question Id : 68634021099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 a1 e siforg

T 1 Tl 11
A [qfEe L [use TG 3 ded 2o YiE®
B. [{A®l-ga 11 [uehel T | Fsferd YiEmral | s
C
D

. [ fagmg | 11 [fo=iy TS 3 sgagR ot srdai
. [oatad & o] v [a1 a1 tite Rufaal 3 daftd YiEdbrs & s 3Ead)

FafdRad f[deedl § U U8l SR &l 944 ST ;

1. A-T1. B-III. C-IV, D-I

[ ]

. A-L B-1II. C-1IT, D-IV
3. A-IIL, B-IV. C-1. D-II

4. A-IV. B-1. C-II. D-III
Options :
68634083357. 1
68634083358. 2
68634083359. 3
68634083360. 4



Question Number : 41 Question Id : 68634021100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |lnvisible hand 1. |A.O. Hirschman
B. |Coordination failure I1. [Hausman-Fodrik-Velasce
C. |Unbalanced Growth 1. |JAdam Smith
D_ |Growth Diagnostic framework] IV, |Paul Rosenstain - Rodan

Choose the correct answer from the options given below:

1. A-IL. B-1. C-111. D-IV

[ ]

AL B-LL C-IV, D-IT
3. A-L B-IV. C-II. D-II

4. A-IIL. B-IV. C-1. D-II
Options :
68634083361. 1
68634083362. 2
68634083363. 3
68634083364. 4

Question Number : 41 Question Id : 68634021100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 161 GH! 11 U e Siforg

T I Tt I
A |3y T i G
B. [9590 @1 famad)| 11 [Gloa--am-danas]
C
D

. [3rddicid gis 1L [T5H ¥y

. [Hatg Fer et | 1v. [oie e 3

Fgfeiiad f[deedl § 9 98l It &l 944 Sl ;

1. A-I1. B-1, C-II1, D-IV

[ ]

AT B-1L C-IV, D-II

CA-LB-TV. C-III. D-II

[#5]

4, A-IIIL. B-IV. C-1. D-II
Options :
68634083361. 1
68634083362. 2
68634083363. 3
68634083364. 4



Question Number : 42 Question Id : 68634021101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): In the Lewt's model withdrawing one unit of labour from the traditional sector is going to
reduce total output in the disguised unemployment phase.

Reason (R): In the Lewi's model. it is not necessary that the marginal product in the traditional activity be
exactly zero.

In the light of the above statements. choose the most appropriate answer from the options given below:

ey

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

|

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

Lad

. (A) 1s correct but (R) 1s not correct

4. (A) 1s not correct but (R) 1s correct
Options :
68634083365. 1
68634083366. 2
68634083367. 3
68634083368. 4

Question Number : 42 Question Id : 68634021101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-2 < Py U T €, U@ Sy (A) & wu H ffad © O 5391 S9& $RU (R) & F9 T,

FfUFYT A: A6 ATSd H§ WRATE 83 T Y7 &1 TS 5515 & 909 o I U5 SRIGHTRI BT Ha=T |
Pd Sl § Bl I Sl o

PRI R: WGH HISA 1, T8 HGRID 61 ¢ 19 URURNTG Tdfafedi # Smid Iare 3t I &l
JRIGT DY & AP H, I 140 U f[dmedl H 9 Tel SR &I 99 Bl

1. A SRR EHI A&, SIRR. A DI Ul AT &
A SRR G YA T, IR R. A DI Ul ARA ol &

3. AT T AP R 3T ©

|

4. AT R APIRIAS
Options :
68634083365. 1
68634083366. 2
68634083367. 3
68634083368. 4

Question Number : 43 Question Id : 68634021102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Fiscal Policy and Monetary Policy are covered under micro economics.
Statement II: Economic growth and unemployment are covered under macroeconomics.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II is true
Options :
68634083369. 1
68634083370. 2
68634083371. 3
68634083372. 4

Question Number : 43 Question Id : 68634021102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CAEAIEACARIIUf
FY I: A9 i SR Age i i spiwma & siarfd o 81
YT I1: NS GG 3R SRIHTRI TEY srefemed & sidifd omd g1
SWRIT PYH & 3elid H, Al U U fdwedi & T Hel SR &1 994 Fifor;
1. FY AR I TT §
2. HYF1 AR 11 ST SA &
3. BUA 1A B, A HUA 11 3 §
4. DY A 5. Alb PUT T T &
sicsa369.1
68634083370. 2

68634083371. 3
68634083372. 4

Question Number : 44 Question Id : 68634021103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LISTII
A |Cultural Integration | I. |One culture gets recombined with cultures of another

[he close relationship among various elements of a
culture system

B. |Cultural Relativism II.

. |Cultural : o .
Z okt s ITII. [The practice of judging a culture by its own standards

A theoretical paradigm that explores the relationship
of human culture and physical environment

D. |Cultural Ecology IV.

Choose the correct answer from the options given below:

1. A-IV. B-1. C-III, D-II

| )

AL B-IV, C-I1, D-I
3. A-L. B-IL C-IV, D-III

4. A-II. B-IT1, C-1. D-IV
Options :
68634083373. 1
68634083374. 2
68634083375. 3
68634083376. 4

Question Number : 44 Question Id : 68634021103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 161 gt 11 9 e oy
T 1 Tt 1

A [oreplas t@exu | 1 [te Swpid gax! &) Gxpiadl 4 B 8] Sl
B. [Uipid® Tusae | 11 [@iRelad wume & 9 ol & 5 Mo g9y
C. [Ai%pidd HhI0 |11 590 & HHS] gRT b8l S5 d & Helih bl JuT

GESARES . |98 HAdeIe UidHH Sl H1-dg 9% id Ud Hifd®
P- Imfsfesfa V- (TareRor 3 el @8 T AT
fafciad faepedl o O 98l Gur &1 98- I -

1. A-IV, B-1, C-1II. D-II

| )

AL B-TIV. C-I1, D-1
3. A-L. B-II. C-IV., D-III

4. A-I1, B-IIL. C-1. D-IV
Options :
68634083373. 1
68634083374. 2
68634083375. 3
68634083376. 4



Question Number : 45 Question Id : 68634021104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Labour demand will tend to be more elastic in the long run than in short run.

Statement II: In short run. a firm will exprience increase in diminishing returns to labour input if capital 1s
held constant.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

Options :

68634083377. 1

68634083378. 2

68634083379. 3
68634083380. 4

Question Number : 45 Question Id : 68634021104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FICICACURIIC
HYF 1: YH-H H Sfeurafe B gor H draiaf 7 s g g1 31 wgia s |
S I1: Tl Uoll R &1 35l © o Sredmafy 7 fadt o=t 7 9 FHaw & g uiawa A afs or|
SWRIFd DY & 3Heild H, - AU MU fdd el & I Fel STk &1 99 S
1. YA AR S 9 §
HYA 1 HR 11 ST S

| )

3. PUTI I 8, AfbT HUT I T &

4. BYT HTI 8. AT FYT I TI B
Options :
68634083377. 1
68634083378.2
68634083379.3
68634083380. 4

Question Number : 46 Question Id : 68634021105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Youth dependency ratio is one of the important determinants of the structure of the world
population.

Statement II: Youth dependency ratio is the proportion of youth under age 25 to the working aged population
15-60 years in a country.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4, Statement [ 1s false but Statement II is true
Options :
68634083381. 1
68634083382. 2
68634083383. 3
68634083384. 4

Question Number : 46 Question Id : 68634021105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eﬁﬁﬁiﬂmm%:
Y I a1 F2RAT U1 [y S-Ee &1 WRa1 & Hedyui HuRe A Ta 5

@Y I1: AT [F2Ra1 ST, [ <=1 25 g @1 oy & 19 & garsdi &1 15-60 a¥ B yrsial STHe
4 HH-3AUE B

IRITT DY & ATAIP H, -id G0 70 il H I Tl SR D1 99 DIl
1. HYT1 AR 11 SHT 9 &
2. YT AR 11 SHT A S

3. PYT I I o, Al BYT I 3T ©

4. BYT1 AT 8. APTFYT I TI &
Options :
68634083381. 1
68634083382.2
68634083383.3
68634083384. 4

Question Number : 47 Question Id : 68634021106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concept of Sanskritization as advocated by M.N Srinivas facilitates understanding of:

1. The effect of globalization on Indian society

| )

. The consequence of teaching Sanskrit language i schools
3. The influence of Vedic texts on Indian society

4. The process of gradual socio-cultural transformation among different caste groups
Options :
68634083385. 1
68634083386. 2
68634083387. 3
68634083388. 4

Question Number : 47 Question Id : 68634021106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . A1 gR1 vemiid SepfamRu 3t Semea FRfafad 3 THe & ge & 6
1. HRATI FHTS IR G410 1 JH1G

faerTerdt & Tend yri-frern 1 aikomy

3. YR FATS TR dfdes 3l 191G

4. Taf¥r SIId-9rEl & &< it HITioh-Hiepid® U0l &I Uihal

Options :

68634083385. 1
68634083386. 2
68634083387. 3
68634083388. 4

-2

Question Number : 48 Question Id : 68634021107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Net migration rate = inmigration - emigration
Statement IT: Net migration rate = emigration - immigration
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false
4. Statement I is false but Statement II is true

Options :
68634083389. 1



68634083390. 2
68634083391. 3
68634083392. 4

Question Number : 48 Question Id : 68634021107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FURU S

FYF I: a8 Ygg & = Y — IS

HYF 11: 90 TawH o= = THARH — HTHaH

SWRIT PYF & 3elid H, =1 U U fddbedi & I Hel SR &1 954 Fifor;
1. HY I IR 9§

HYA 1 IR 11 ST S §

3. PYT I I o, dAfpd BYT I 3T ©

| )

4. HYT AT B, AP FYT I TT &
Options :
68634083389. 1
68634083390. 2
68634083391.3
68634083392. 4

Question Number : 49 Question Id : 68634021108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Supose a country Indica. needs to grow at 5% per annum. Given the country follows Harrod-Domar growth
model and the depreciation rate of 3% and capital output ratio 2.5. what should be the gross savings rate of
that country?

1. 10%

| )

Sk
25%

3. 30%

4, 20%
Options :
68634083393. 1
68634083394. 2
68634083395. 3
68634083396. 4

Question Number : 49 Question Id : 68634021108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O b U A1 8T &1 5% alMNe B aX 4 Jia P B ARl ¢ Fad ¥ oXIS-SIR 14 Aisd
1 SHTTHA DAl § Y1 D] g &% 3% SR Yoll (il Su1d 2.5 § 1 39 4% &I 9dbd dad (a1
I e

1. 10%

3. 30%

4. 20%
Options :
68634083393. 1
68634083394. 2
68634083395. 3
68634083396. 4

Question Number : 50 Question Id : 68634021109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Thomas R. Malthus principle of population has following points:

A. The increase of population is limited by the means of subsistence
B. Population increases when the means of subsistence increase

C. Population. if left unchecked. could double itself every 25 years
D. Population growth is unrestricted

E. Population can not be kept constant

Choose the correct answer from the options given below:

1. A.B. C only

| )

.B.D.E only
3.A.D.E only

4.B.C.D only
Options :
68634083397. 1
68634083398. 2
68634083399. 3
68634083400. 4

Question Number : 50 Question Id : 68634021109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U SR, AUd & SHue Rgid & Hafiiad 95 8

A SFEET gl Sitfaeet o wreHl gR1HIid gl 8

B. 51 Siider] & F1U 1 91 811 § a1 o8 1 gfs sl &

C. gi¢ SR g B & O/ ol Ui 25 99 U g8 g ol ol
D. SEE §fS sfaefdd &

E. 99 & foodt $1ad U8 UH9HE ol 3@ o 9&dl o

i fEU U [d@edl 5 O Igl 3R & 994 BIou:
1. PAd A, B. C

$HadB.D.E

AU A.D.E

4.%auB.C.D

Options :

68634083397. 1
68634083398. 2
68634083399. 3
68634083400. 4

| )

L8]

Question Number : 51 Question Id : 68634021110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which topic 18 not studied in microeconomics?

A. Role of Government

B. Inflation and deflation

C. Factor of production

D. Price elastaticy of demand
E. Market failure

Choose the correct answer from the options given below:

1. A B only

-2

.B. C only
3.C.D only

4.D. E only
Options :
68634083401. 1
68634083402. 2
68634083403. 3
68634083404. 4

Question Number : 51 Question Id : 68634021110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P srefema  fopeT v ol @1 remg= =t fpar W &2

A IRBR &I YA

B. HEpIfd 31X 3fa¥pifd
C. IHG P BRD

D. Hi7 &1 §ed did

E. 9I9R &1 f[d%medr

L

i fEU U [d@edl 5 O Igl 3R & 994 BIou:
1. Had A, B

. $dd B. C

. $HaAC. D

4, ®dA D, E

Options :

68634083401. 1
68634083402. 2
68634083403. 3
68634083404. 4

| )

L8]

Question Number : 52 Question Id : 68634021111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movements led by Mahatma Gandhi in India.

A. Champaran Satyagraha
B. Satyagraha against Registration certificate
C. Ahmedabad Mill strike

D. Campaign against Poll Tax
E. Kheda Satyagraha

Choose the correct answer from the options given below:
1. A.B. C.E only
2.A.B.Conly
3.A.C.E only

4. A.B.E only
Options :
68634083405. 1
68634083406. 2
68634083407. 3
68634083408. 4

Question Number : 52 Question Id : 68634021111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR & e el gRT g g T efiea- Fefaad d 4 s a2

A. IR0 I8

B. USi&R0 GHIUMYA & {095 TdrE
C. 3eHqrEs e ggand

D. HdaH & @ (e STaH

E. WS ARG

L

i fEU U [d@edl 5 O Igl 3R & 994 BIou:
1. Hdd A, B.C.E

AU A, B.C

3. P A.C.E

4. PAAA.B.E

Options :

68634083405. 1
68634083406. 2
68634083407. 3
68634083408. 4

| )

Question Number : 53 Question Id : 68634021112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Political Sociology explores the relationship between political power and social structures.

Reason (R): Political power is not solely determined by individual leaders. but also by the social structures
and institutions that shape and constrain political processes.

In the light of the above statements, choose the most appropriate answer from the options given below:

—t

. Both (A) and (R) are correct and (R) 18 the correct explanation of (A)

2

. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct

4. (A) 1s not correct but (R) 1s correct
Options :
68634083409. 1
68634083410. 2
68634083411. 3
68634083412. 4

Question Number : 53 Question Id : 68634021112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 31 By AU T €, U9 <&y (A) & +0 § [IR8d § df g8k 99 ®RUI(R) & F9 4,
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1. AR REHI IU . 3R R A DI T AT 8
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3. AT S AP R T B

| )

4. A HI T, AT R A ©
Options :
68634083409. 1
68634083410. 2
68634083411. 3
68634083412. 4

Question Number : 54 Question Id : 68634021113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who are the auther of the book "the Belleurve: Intelligence and Class Structure in American Life" (1994)

1. Stephal ball and Charles Murray

[ )

. Charles Murray and Gail Lewis
3. David Gillbourn and Richard J Hernstein

4. Richard J.Hernstein and Charles Murray
Options :
68634083413. 1
68634083414. 2
68634083415. 3
68634083416. 4

Question Number : 54 Question Id : 68634021113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'g 90 Ba: gre o US FIN TR 59 SRS A18W (1094)" THIS & 0GP HIF 37
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4. =3 & g SR =T R

Options :

68634083413. 1
68634083414. 2
68634083415. 3
68634083416. 4

| ]

Question Number : 55 Question Id : 68634021114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A Establishment of planning commission
B. Demonitization in India of Rs.500 and Rs.1000.
C. Establishment of NITI Aayog
D. Liberalization. Privitisation and Globalisation of Indian economy
E. Implimentation of GSt i India.

Choose the correct answer from the options given below:

LI AGE EB

[ )

A D.C.B.E
3.B.E.A.C.D

4 C.B.ALE.D
Options :
68634083417. 1
68634083418. 2
68634083419. 3
68634083420. 4

Question Number : 55 Question Id : 68634021114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A TISET STNRT S RG]

B. YA H Rs.500 3R Rs.1000 T fGHIH0

C. Sifd SN BT =g
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=i fau e fawedt | U el IR &1 70 B

1. DA CEB

2=

AD,CE, B E
3.B.ELA.C.D

4. C.B.A.E.D
Options :
68634083417. 1
68634083418. 2
68634083419. 3
68634083420. 4

Question Number : 56 Question Id : 68634021115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): According to Economic Survey 2022-23. "The common narrative of Indian women's low
labour participation rate (LFPR) misses the reality of working females integral to the economy of the
household and the country".

Reason (R): The reason is related to the measurement issues of employment through survey design like:
Ovwerly broad categories. reliance on a single question to categorise labour force status. and the narrow
approach of limiting productive work to labour force participation.

In the light of the above statements. choose the most appropriate answer from the options given below:

[as—y

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

| )

. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

Lad

. (A) 15 correct but (R) 1s not correct

4. (A) 1s not correct but (R) 1s correct
Options :
68634083421. 1
68634083422. 2
68634083423. 3
68634083424. 4

Question Number : 56 Question Id : 68634021115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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IRIdd DU & AP H, Hid fau 70 fadbedi T I Tt IR &1 99 Bl
1. AR RGHI IUE. 3R R A DI T I 8
A SRR TG E, iR R AT UE! U el &

3. AT S AP R T B

| )

4. A HT T, APTR TA B
Options :
68634083421. 1
68634083422. 2
68634083423. 3
68634083424. 4

Question Number : 57 Question Id : 68634021116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Policies focussed toward reducing poverty levels need not lead to a slower rate of economic
growth.

Reason (R): Raising income levels of the poor will stimulate an overall increase in the demand for goods and
services.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct

4. (A) 1s not correct but (R) is correct
Options :
68634083425. 1
68634083426. 2
68634083427. 3
68634083428. 4



Question Number : 57 Question Id : 68634021116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. AT R AP R T &

| )

4. ANHIE. ABIRTA
Options :
68634083425. 1
68634083426. 2
68634083427. 3
68634083428. 4

Question Number : 58 Question Id : 68634021117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): 'The key to the weak bargaining position of the poor 1s simply their poverty'.

Reason (R): 'Economic deprivation is a source of political deprivation, and political deprivation m turn helps
to maintain and confirm economic deprivation'.

In the light of the above statements, choose the most appropriate answer from the options given below:

—t

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

[ ]

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 1s correct but (R) is not correct

4. (A) 1s not correct but (R) 18 correct
Options :
68634083429. 1
68634083430. 2
68634083431. 3
68634083432. 4

Question Number : 58 Question Id : 68634021117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634083429. 1
68634083430. 2
68634083431. 3
68634083432. 4

Question Number : 59 Question Id : 68634021118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A general practice of calculating employment and unemployment number 1s using household survey data.
Often. some other sources are also used. Which among the following is not a household survey data but still
used to calculate employment and unemployment numbers in India.

1. Employment Providend Fund Organisation (EPFO)
2. Employment and Unemployment Survey (EUS)
3. Periodic Labour Forece Survey (PLFS)

4. Consumer Pyramid Household Survey (CPHS)
Options :
68634083433. 1
68634083434. 2
68634083435. 3
68634083436. 4

Question Number : 59 Question Id : 68634021118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[

2. F19 T8 SRISFTR 9a&T (EUS)
3. 3MTafe 4 o Tderm (PLFS)
4. Iqiaa foRifirs el wderm (cPHS)

Options :

68634083433. 1
68634083434. 2
68634083435. 3
68634083436. 4

Question Number : 60 Question Id : 68634021119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one is not a merit good?

1. Public Libraries

[ )

. Museums
3. Soda drinks

4. Subsidised Housmg
Options :
68634083437. 1
68634083438. 2
68634083439. 3
68634083440. 4

Question Number : 60 Question Id : 68634021119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634083437. 1
68634083438. 2
68634083439. 3
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68634083440. 4

Question Number : 61 Question Id : 68634021120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Hirschmen unbalanced growth theory leading sector is identified by the number of linkages
(forward and backward) the strength of each linkages and the intrinsic profitability of each sector. In the
simplified linkage diagram given below identify their leading sector.

Mining
\ / Rail\vays
Goal Steel
\ Sh Ji“
Machi“cr}? / IIJI g

1. Mining
2. Railways
3. Steel

4. Shipping
Options :
68634083441. 1
68634083442.2
68634083443. 3
68634083444. 4

Question Number : 61 Question Id : 68634021120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634083441. 1
68634083442. 2
68634083443. 3
68634083444. 4

Question Number : 62 Question Id : 68634021121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The concept of flexicurity relates to enhance the flexibility of labour mark on the one hand and to enhance
employment and social security on the other hand. Which of the following is not the component of flexicurity.

1. Flexible and secure contractual arrangements and work organisations

[

. Active labour market policies
3. Dominant employer's association

4. Supportive and productive social dialogue
Options :
68634083445. 1
68634083446. 2
68634083447. 3
68634083448. 4

Question Number : 62 Question Id : 68634021121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634083445 1
68634083446. 2
68634083447, 3
68634083448, 4

Question Number : 63 Question Id : 68634021122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which method was set up by the Suresh Tendulkar Commuittee for calculating India's poverty line?

1. Calculation of monthly per capita daily intake of calories

| )

. Calculation of monthly real expenditure
3. Calculation of monthly per capita consumption expenditure

4, Calculation of monthly net income of the family
Options :
68634083449. 1
68634083450. 2
68634083451. 3
68634083452. 4

Question Number : 63 Question Id : 68634021122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. Tifdt oafdd H1f¥ee SOHT o T IRl
4. URAR P AIIES Fad 31 &1 aRea-

Options :

68634083449. 1
68634083450. 2
68634083451. 3
68634083452. 4




Question Number : 64 Question Id : 68634021123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The 1dea of human development index (HDI) 1s proposed by

1. Amartya Sen

| )

. Mehboob-ul-Haq
3. Joseph Stiglitz

4, Atkinson
Options :
68634083453. 1
68634083454.2
68634083455.3
68634083456. 4

Question Number : 64 Question Id : 68634021123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
q14 [T A (HDI) DI [daR [dHe gRIUlauTiad a1 141 52

1. A o9

3. S ey

4. gefp-g
Options :
68634083453. 1
68634083454. 2
68634083455. 3
68634083456. 4

|

Question Number : 65 Question Id : 68634021124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Improving life and dignity of labour force of country by protecting and safeguarding the interest
of workers, promoting their welfare and providing social security has become a major agenda of the
government after the outbreak of COVID-19 and to tulfill the goals of sustainable development .

Statement II: The creation at e-shram portal for creating national database for unorganised workers is a right
step in this direction.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement II are false
3. Statement I is true but Statement I 1s false

4, Statement I 1s false but Statement II is true
Options :
68634083457. 1
68634083458. 2
68634083459. 3
68634083460. 4

Question Number : 65 Question Id : 68634021124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634083457. 1
68634083458. 2
68634083459. 3
68634083460. 4

Question Number : 66 Question Id : 68634021125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
In the traditional sector of Lewis model (surplus-labour economy). wage rate is equal to

1. Marginal product of labour

| )

. Average product of labour
3. Average cost of production

4. Marginal cost of production
Options :
68634083461. 1
68634083462. 2
68634083463. 3
68634083464. 4

Question Number : 66 Question Id : 68634021125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634083461. 1
68634083462. 2
68634083463. 3
68634083464. 4

Question Number : 67 Question Id : 68634021126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Notable changes are found in industrialized economies compare to undeveloped economies.

A. New form of Energy

B. The centralisation of work in factories
C. Manufacturing and Mass production
D. Division of labour and specialisation
E. Wage labour

Choose the correct answer from the options given below:

1.A.D.E. C only

| )

.B.C.D. E only
3.C.D.E.Aonly

4. A.B.C.D.E only
Options :
68634083465. 1
68634083466. 2
68634083467. 3
68634083468. 4

Question Number : 67 Question Id : 68634021126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634083465. 1
68634083466. 2
68634083467. 3
68634083468 4

Question Number : 68 Question Id : 68634021127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST I
A |Investment in heavy industry 1. |Fifth five vear plan
B. |Plan holiday II. [Ninth five vear plan
C. [Removal of poverty and attainment of self-reliance] [II. |Second five vear plan
D_ |Growth with social justice and Equality IV |Annual plan (1966-69)

Choose the correct answer from the options given below:

1. A-III. B-II., C-IV, D-I

[ ]

CA-L B-IIL C-IV. D-III
3. A-IL B-IV. C-1. D-II

4. A-IILL B-1. C-IV. D-II
Options :
68634083469. 1
68634083470. 2
68634083471. 3
68634083472. 4

Question Number : 68 Question Id : 68634021127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Lad

4. A-I11. B-1. C-IV. D-II
Options :
68634083469. 1
68634083470. 2
68634083471. 3
68634083472. 4

Question Number : 69 Question Id : 68634021128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): According to the UN multidimensional poverty index 41 crore people came out of poverty in
India between 2005-06 and 2019-21.

Reason (R): The prime reason of decline in poverty during the period is the launch of Aspirational District
Programme of NITT Aayog.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct

4. (A) 1s not correct but (R) 18 correct
Options :
68634083473. 1
68634083474.2
68634083475. 3
68634083476. 4

Question Number : 69 Question Id : 68634021128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634083473. 1
68634083474. 2
68634083475. 3
68634083476. 4

Question Number : 70 Question Id : 68634021129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the correct way of Research process?

A Data will be used for data analysis.
B. Define the research problem

C. Data collection

D. Report writing

E. Review of literature

Choose the correct answer from the options given below:

1.B.E.C.A.D

-2

B G AD
3.BCBAD

4 B.A.C.D,E
Options :
68634083477. 1
68634083478. 2
68634083479. 3
68634083480. 4

Question Number : 70 Question Id : 68634021129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. B.A.C.D.E
Options :
68634083477. 1
68634083478. 2
68634083479. 3
68634083480. 4

Question Number : 71 Question Id : 68634021130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A): Real GDP (Gross Domestic Product) in a particular year can be more than nominal GDP.
Reason (R): In case of deflation in the economy in a particular year real GDP can be more than nominal GDP.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

2. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

3. (A) 1s correct but (R) is not correct

4. (A) is not correct but (R) is correct
Options :
68634083481. 1
68634083482. 2
68634083483. 3
68634083484. 4

Question Number : 71 Question Id : 68634021130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634083481. 1
68634083482. 2
68634083483. 3
68634083484. 4

Question Number : 72 Question Id : 68634021131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Actual value — Minimum value

The formula for calculating dimensions Index (DI) of HDI 1s DI = - —
Maximum value — Minimum value

For a Hypothetical country life expectancy at birth 1s 64.6 years, minimum and maximum values are
respectively 20 years and 83.57 years. Caleculate the DI of the life expectancy for this country.

1. 0.6101

| )

. 0.701
3. 0.501

4. 0.641
Options :
68634083485. 1
68634083486. 2
68634083487. 3
68634083488. 4

Question Number : 72 Question Id : 68634021131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qrEdfda O - AdH HIA 4
HEECd

HH - FaH 7
Ty frdt O ea-TaTe 31 1 ofla UeTsl 64.6 a4 8. F-Iad SR iU dq O HH: 20 Y 3R 87.57
oy €1 ol 59 oX1 1 Sila- YR &1 DI BT YRebe SifeU]|

1. 0.6101

T S 35 (HDI) & S YI&id (DI) & IREG &1 DI -

-2

.0.701
3. 0.501

4, 0.641
Options :
68634083485. 1
68634083486. 2
68634083487. 3
68634083488. 4

Question Number : 73 Question Id : 68634021132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If trade unions restrict labour supply or negotiate wages that are above the market equilibrium,
the net effect 1s a trade-off between wage and employment.

Reason (R): By improving job security, unions may make workers more prepared to accept changes in
working practices that lead to productivity gain.

In the light of the above statements. choose the correct answer from the options given below:

[y

. Both (A) and (R) are true and (R) 1s the correct explanation of (A)

-2

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
3. (A) 1s true but (R) 1s false

4, (A) 1s false but (R) 1s true
Options :
68634083489. 1
68634083490. 2
68634083491. 3
68634083492. 4

Question Number : 73 Question Id : 68634021132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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®YF I1: D1 GR&1 T GUR gR1 49 SUPRI Bl SRISGR] Uursi H gikacd= &1 WiepR &3 & g
HBTS TR B Gl Ol JTGPHdl Y Bl SR A ST g

JRIET PYH & AP H, I 14U 7Y f[dhed T I Tl TR DI 994 Il
1. BYFI IR I EH 9d &
2. HUF1 AR SH ST §

3. FYT 1 T B, AT P 11 ITT §

4. BYT HTI B, APTFYT I TI B
Options :
68634083489. 1
68634083490. 2
68634083491. 3
68634083492. 4

Question Number : 74 Question Id : 68634021133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Outline the chronology of the new reproduction on the basis of key events in the United Kindgdom.

A Birth of louse Brown, Warneck committee, death of Dolly

B. Death of Dolly. Debate on human-animal hybrids. Human ferlilization and Embrology Authority
C. Burth of Louse Brown, Warneck committee. surrogate arrangement act.

D. The Pope condemned the new technology. growth of stem cell research

E. Human Fertilization and Embryology Act. HFEA.

Choose the correct answer from the options given below:

1.LABandE

-2

.B.Dand E
3.C.Dand E

4. C.Band A
Options :
68634083493. 1
68634083494. 2
68634083495. 3
68634083496. 4

Question Number : 74 Question Id : 68634021133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gArgcs s & T fgail & YR IR =79 Todle & 3P ®f Uafyd DI

A. T34 §134 &1 o4, §-@ |ilfd, STl &1 9

B. Sidil &1 T, -0 HHR, TG = Ty T Uiiee R
C. T ST3- &1 o4, §-1p FHI, TRATE soaRT SHdf-ga

D. UIY 3 =5 W] &1 Hal &1, d1-SIRie sy i dafg

E. U4 9= ud Yuifas sifa-am, HFEA.

i< fGU U faseti & 9 98t IR &1 98- DIl
1.A.B3RE
2.B.D 3RE
3.C.D 3RE

4.C.B3RA
Options :
68634083493. 1
68634083494. 2
68634083495. 3
68634083496. 4

Question Number : 75 Question Id : 68634021134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"What were the three 'Rs’ which came mto focus after the crash of the wall street of 1929 and the great
depression of the 1930s?

1. Relief. Recovery. Reform.

| )

. Recovery. Reform, Recoup
3. Recoup. Relief, Reassure

4. Revolution. Recovery. Reform
Options :
68634083497. 1
68634083498. 2
68634083499. 3
68634083500. 4

Question Number : 75 Question Id : 68634021134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty 1020 & GT0 WIe Y qUTTY 1030 H1 HGMHE! S U & T R (3R) SH I ¢ o 5 H M2
1. e, Repardt, el
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4. FaregeH. Ravax, R

Options :

68634083497. 1
68634083498. 2
68634083499. 3
68634083500. 4

Question Number : 76 Question Id : 68634021135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Labour Force Participation Rate (LFPR) is defined as follows:

1. LFPR 1s defined as the number of persons in the labour force (1.e working or seeking or available for
work) in the population.

[ )

. LFPR is defined as the percentage of persons i the labour force (i.e. working or seeking or available for
work) in the population.

3. LFPR is defined as the proportion of workers to the participation rate in the population.

4. LFPR is defined as number of unemployed as percentage of employed
Options :
68634083501. 1
68634083502. 2
68634083503. 3



68634083504. 4

Question Number : 76 Question Id : 68634021135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. LFPR & o-aedl & 4ii® 94 (3rfd RRG 91 dri=gd 91 1 oq Suds) & aufdad] & ufawd &
w0 7 ufeifiig foear man &

3. LFPR ! SIRedT § e UIHTAT &3 & (6 SR & SEFUI & &9 H uRyINg g g
4, LFPR ! [FifSid o Wic=Id &1 qol 4 sRIGHIRI &1 601 & &9 4 giy1ivd foar man g

Options :

68634083501. 1
68634083502. 2
68634083503. 3
68634083504. 4

[ ]

Question Number : 77 Question Id : 68634021136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What does the term 'Disneyisation’ suggest?

1. an economic and political system in which all members of a society are socially equal.

|

. Post-Industrial economy development
3. Social Trends, social Realities

4. Theming. Hybrid. consumption. Mechandising
Options :
68634083505. 1
68634083506. 2
68634083507. 3
68634083508. 4

Question Number : 77 Question Id : 68634021136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634083505. 1
68634083506. 2
68634083507. 3
68634083508. 4

[y

Question Number : 78 Question Id : 68634021137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: In developed countries relative poverty is more prevalent than absolute poverty.
Statement IT: Over time absoulute poverty in India has reduced but relative poverty has increased.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement I 1s incorrect but Statement II is correct
Options :
68634083509. 1
68634083510. 2

68634083511. 3
68634083512. 4

Question Number : 78 Question Id : 68634021137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EUCRICACURIIE
&Y 1: A iia 2T 1 9 a1 R R ot gam | sifte wafad 3
HYF I1: YR § FRUs FHei-ar 999 & 91 &4 55 § g aef Fdard 9fg 53 o
SR By & el H, = f4u 1Y faeedi 7 9 98t STk &1 994 SIf:
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4. BYT AT T, APTFYT I TI &
Options :
68634083509. 1
68634083510. 2
68634083511. 3
68634083512. 4

Question Number : 79 Question Id : 68634021138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The meaning of community in evolution varies at the level of following dimensions.

A Biological

B. Psychological
C. Moral

D. Philosophical
E. Metaphysical

Choose the correct answer from the options given below:

1.AB.C,DE

b2

.A.B.C.Donly
3.A.B.D.E only

4. A,C.D, E only
Options :
68634083513. 1
68634083514. 2
68634083515. 3
68634083516. 4

Question Number : 79 Question Id : 68634021138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fae § 9gad &1 3 FEfafad s & TR R gad 6:

A. Old a1 E

B. §Alaq-®

c. g

D. AR

E. QRIHia® (qaadm)

i fEU U [d@edl 5 O Igl 3R & 994 BIou:

1.LAB.C.DLE
2.A.B.C.Donly
3.A.B.D.E only

4. A C.D.E only
Options :
68634083513. 1
68634083514.2
68634083515. 3
68634083516. 4

Question Number : 80 Question Id : 68634021139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following does not include in defining self-employment.

1. Casual or daily labourers

| )

. Own account workers in informal enterprise
3. Contributing fanmily workers

4. Employees in informal enterprises
Options :
68634083517. 1
68634083518. 2
68634083519. 3
68634083520. 4

Question Number : 80 Question Id : 68634021139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634083517. 1
68634083518. 2
68634083519. 3
68634083520. 4

Question Number : 81 Question Id : 68634021140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Correct order of sampling process in research.

A To know the research arguments

B. To know the sampling frame

C. Sample size estimation

D. To know the targeted population

E. Selection of sample from simple random sampling

Choose the correct answer from the options given below:

1.E.C.D.B.A

b2

A D C.BE
3.AACDB.E

4. C,A.B.D.E
Options :
68634083521. 1
68634083522. 2
68634083523. 3
68634083524. 4

Question Number : 81 Question Id : 68634021140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. C.A.B.D.E
Options :
68634083521. 1
68634083522. 2
68634083523. 3
68634083524. 4

Question Number : 82 Question Id : 68634021141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one is of the following is not a characteristic of a developing country.

1. High-share of agriculture in GDP

[

. Rapid rural - urban migration
3. High rate of productivity in manufacturing

4. Higher population growth
Options :
68634083525. 1
68634083526. 2
68634083527. 3
68634083528. 4

Question Number : 82 Question Id : 68634021141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634083525. 1
68634083526. 2
68634083527. 3
68634083528. 4

[y

| )

Question Number : 83 Question Id : 68634021142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The next G20 Summit will be held in which country?

1. Braazil

| )

. Indonesia
3. China

4. India
Options :
68634083529. 1
68634083530. 2
68634083531. 3
68634083532. 4

Question Number : 83 Question Id : 68634021142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STAT G20 I g S 5 8

1. SISl
2. SeHREr
3,94

4, YRd
Options :
68634083529. 1
68634083530. 2
68634083531. 3
68634083532. 4



Question Number : 84 Question Id : 68634021143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is not a measure of mmequality?

1. Gini coefficient

| )

. Larenz curv
3. Head count ratio

4, Coefficient of variation
Options :
68634083533. 1
68634083534.2
68634083535.3
68634083536. 4

Question Number : 84 Question Id : 68634021143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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|
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Options :

68634083533. 1
68634083534. 2
68634083535. 3
68634083536. 4

Question Number : 85 Question Id : 68634021144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The nature of unemployement found in primary sector in developing country is

1. Open Unemployement

-

2. Disgmised Unemployement
3. Structural Unemployement

4. Mmimum Unemployement
Options :
68634083537. 1
68634083538. 2
68634083539. 3



68634083540. 4

Question Number : 85 Question Id : 68634021144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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TP SRR
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Options :

68634083537. 1
68634083538. 2
68634083539. 3
68634083540. 4

[y

| )

Question Number : 86 Question Id : 68634021145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One of the measures taken by the government of India to mitigate the impact of Covid pandemic by free
distribution of food grains to the weakest and most vulnerable sections of the society 1s

1. Jan-Dhan Yojana
2. Pradhan Mantri Garib Kalyan Yojana (PMGKY)
3. PM Kisan Samman Nidhi

4. Pradhan Mantri Awas Yojana (PMAY)
Options :
68634083541. 1
68634083542. 2
68634083543. 3
68634083544. 4

Question Number : 86 Question Id : 68634021145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. YU e g i (PMKSN)
4. YYFTHAT ST DI (PMAY)

Options :

68634083541. 1
68634083542. 2
68634083543. 3
68634083544. 4

Question Number : 87 Question Id : 68634021146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The classical concept of full employment relates to a situation where there is

1. Zero unemployment on the economy

[

. Involuntary unemployment in the economy
3. Disgmised unemployment in the economy

4. Under unemployment in the economy
Options :
68634083545. 1
68634083546. 2
68634083547. 3
68634083548. 4

Question Number : 87 Question Id : 68634021146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
quf JGATR &1 URUTRE sl 39 Rl &l gaiiid $dr . o6l W el 6 -
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Options :

68634083545. 1
68634083546. 2
68634083547. 3
68634083548. 4

2




Question Number : 88 Question Id : 68634021147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The economy of Indica follow solow growth model. At the steady-state capital labour ratio 1s 100. depriciation
rate 15 10% and the rate of technological progress is 6%. What is the growth rate of the economy.

1. 3%

| ]

. 10%
3. 6%

4. 100%
Options :
68634083549. 1
68634083550. 2
68634083551. 3
68634083552. 4

Question Number : 88 Question Id : 68634021147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 1 51591 &1 3cgasyl Widll gis Hisd Bl SHR0 Bl 8| fores! ed-fRufd goit 45 3ard 100
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1. 3%

| )

. 10%
3. 6%

4. 100%
Options :
68634083549. 1
68634083550. 2
68634083551. 3
68634083552. 4

Question Number : 89 Question Id : 68634021148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one is not a indicator of human development index (HDI).

1. Life expectancy at birth

| )

. Infant mortality rate
3. Educational Attamment
4. per capita income

Options :
68634083553. 1



68634083554. 2
68634083555. 3
68634083556. 4

Question Number : 89 Question Id : 68634021148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634083553. 1
68634083554. 2
68634083555. 3
68634083556. 4

Question Number : 90 Question Id : 68634021149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to the 17th ICLS framework of ILO informal employment comprises job held by

A. Own-account worker and employers who have their own informal sector enterprises.

B. Contributing family workers, urrespective of whether they work in formal or informal sector.
C. Member of formal producers organisations

D. Casual workers having written job contract

E. Employees who have informal jobs

Choose the correct answer from the options given below:
1. A.B and E only
2.A.Dand E
3.B.Cand D

4, B.Dand E
Options :
68634083557. 1
68634083558. 2
68634083559. 3
68634083560. 4

Question Number : 90 Question Id : 68634021149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634083557. 1
68634083558. 2
68634083559. 3
68634083560. 4

| ]

Question Number : 91 Question Id : 68634021150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII

Differences between consumers ability to
pav and what exactly consumers payv.
Difference between actual no of workers

A |Static Surplus I

Consumer available for employment and the level of
B 1T . .
surplus emplovment at which the marginal
product of labour is zero.
C Marketable i [Worker's whose marginal product of
" |surplus " [labour 1s zero.

[Dhfference between total agricultural

B Pimpms Babonr, (4 output and subsistence need.

Choose the correct answer from the options given below:

1. A-IL. B-L. C-IV. D-III

-2

CA-TIV. B-IIIL C-1, DAIT
3. A-IL B-I, C-IV. D-IIT

4. A-IIL. C-I1, C-IV, D-I
Options :
68634083561. 1
68634083562. 2
68634083563. 3



68634083564. 4

Question Number : 91 Question Id : 68634021150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g 1 1 31 1 ¥ i sifse

T 1 T 1

N | [BUHIE @1 TG &1 SR SUHIG &R UT®
BECIERL] _|3rerr & &g SidR
E_— RIS & ToTe SUCTsl PITRI B Fel HEAT 3R
B. [ hm 1. RISFTR &1 98 R U 39 &1 4idid Sarg 34
g1, P §iF 3R
LRI

C. o 111 [FFR o @ 99 49 36 90 &
- D HiTTd FHiiA 3 Hale savuddrsi & o
' " fofae

fafaRad fasedl ¥ 9 T8l IR &1 994 PIfo

1. A-II. B-1. C-IV. D-III

| )

CA-IV. B-IIIL. C-1. D-II
3. A-IL B-1. C-IV, D-III

4, AT, C-I1. C-IV, D-I
Options :
68634083561. 1
68634083562. 2
68634083563. 3
68634083564. 4

Question Number : 92 Question Id : 68634021151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: According to the classical economists aggregate supply (AS) curve in the long run is vertical. It
defines the situation of full employment level and sticky price level.

Statement IT: According to Keynesian economy aggregate supply (AS) 1s Horizontal. which shows that any
amount of output can be produced at prevailing price level.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2

. Both Statement I and Statement II are false

3. Statement I is true but Statement II 1s false

4. Statement I is false but Statement II 1s true



Options :

68634083565. 1
68634083566. 2
68634083567. 3
68634083568. 4

Question Number : 92 Question Id : 68634021151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FU U S

TYF L T SRR T STl (AS) & SER dufafy & aw $HeafeR giar ¢ 1 78 guf IR TR
@1 fUfT SiR T Jog TR & IR d SRl 6|

YT I1: DU ST & 3R FHW Y[ (AS) P AR &fas gidl g o g8 auidi g f& frfa
@1 Pl U AT Faed Hod WR §R1 SdTad &I off §abd| o |

IWRIad HYF & AHelld 1, Aid fGu 70 f[dsedi § I It 30 &1 9u- Bl
1. PYTT AR 11 S 9 &
2. FYF1 AR 11 HT 3TT 8

3. PUT 19T 8, AfbT BT I T ©

4. BYT HTI 8. AT FYT I TI B
Options :
68634083565. 1
68634083566. 2
68634083567.3
68634083568. 4

Question Number : 93 Question Id : 68634021152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II
A Pradhan Mantri Kisan I 5kill development programme
" |Sanman Nidhi " [for rural poor youth.
B (One nation one ration 1 Cash transfer of Rs. 6000 per
" |card " |vear in three instalments
N T to ensure PDSs E.aenv?nt .for people
C. : I IT1. |in transit especially migrant
Gramin Kaushal Yojana e
worker
D. [Ujjawala IV, |Gas cylinder for cooking

Choose the correct answer from the options given below:

1. A-I. B-IIL C-II. D-IV

| ]

AL BAIILL C-1L D-IV
3. AL B-I C-III, D-IV

4. A-IV. B-1. C-11. D-IIT
Options :
68634083569. 1
68634083570. 2
68634083571. 3
68634083572. 4

Question Number : 93 Question Id : 68634021152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 161 gt 11 ¥ e Sifeg
T I gt I

A [oyFEA forgE gEE [ 1 [orior (s garedl g 1 fod™ sdsH

B. [0 3P UH I8H Tl 1L [Ufday 26000 @1 i [d2dl H 71G g&iaRul

o |G ST Ut A S 1y [ET & URATEA faRINans & YTl SIEIRI &g

' [@rEE |PDS & Ay YHwsd @Al
D. [Swaell V. [HTeH g9 &q 19 [fds
FafdRad faeedl ¥ 9 9gl or &1 994 Sifo

1. A-I, B-III. C-I1. D-IV

| )

AT B-IILL, C-1, D-IV
3. A-II, B-1. C-IIL, D-IV

4, A-IV. B-1. C-II. D-III
Options :
68634083569. 1
68634083570. 2
68634083571. 3
68634083572. 4



Question Number : 94 Question Id : 68634021153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the correct answer:

Women in India are mostly employed in
1. Agriculture sector
2. Financial sector
3. Industrial sector

4, Education sector
Options :
68634083573. 1
68634083574.2
68634083575.3
68634083576. 4

Question Number : 94 Question Id : 68634021153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H i Afgernsi o1 IoR iy &7 § e g
DI &5

faiia a7e

3. e &Fe

4. e &=

Options :

68634083573 1
68634083574. 2
68634083575. 3
68634083576. 4

[y

| )

Question Number : 95 Question Id : 68634021154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In several states. anganwadi workers worked as frontline workers during the COVID-19 pandemic. from 2020
onwards. What is the Government program that these workers are formally associated with.

1. Sarva Shiksha Abhiyan

2. Integrated Child Development Services

3. National Rural Employment Guarantee Program
4. Link workers for M-Kisan

Options :
68634083577. 1



68634083578. 2
68634083579. 3
68634083580. 4

Question Number : 95 Question Id : 68634021154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B3 A1 B, 2020 § 3R 39D 918 DIAS-10 HEHERI & SR AFHAS! BSAIS 4 TRIYRI &
SGdasd & w9 d & fhar| 8§ sedal igeie ¥4 9 {69 IReR! gieqr 9 J6fed g2

1. 94 e sifge
 TAfed a1 [dH™ a1y

TP AT ISR RS BT
4. TH-fHaM 9§ Sdadied & oie

Options :

68634083577. 1
68634083578. 2
68634083579. 3
68634083580. 4

| )

Lad

Question Number : 96 Question Id : 68634021155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Under development is a massive coordination failure. This idea is developed by

1. Paul Rosenstein - Rodan

[ )

. Paul Krugman
3. A.O. Hirschmen

4. Joseph Schumpeter
Options :
68634083581. 1
68634083582. 2
68634083583. 3
68634083584. 4

Question Number : 96 Question Id : 68634021155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fgraRiad U §8q 99-09- S badl ¢l 59 [daR oI faa- g iya fear g»
1. OTd S - A
2. Tl PIEA
3.0 3. iR
4. Y% ey

Options :

68634083581. 1
68634083582. 2
68634083583. 3
68634083584. 4

Question Number : 97 Question Id : 68634021156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What does the term retrospective labelling mean?

1. The transformation of moral and legal issues into medical matters

| )

. The intrepretation of someone's past consistent with present deviance
3. a powerful negative social label that radically charges a person's self concept and social identity

4. The rejection of both cultural goals and dreams
Options :
68634083585. 1
68634083586. 2
68634083587. 3
68634083588. 4

Question Number : 97 Question Id : 68634021156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1eg, e afeiT &1 3 o g 8
1. =@ 3R fafte gel o1 ffecin gl § Saiawo
2. Tt cofdT & qd SIS & 1Y aodTe fddad @) Hadad

3. U@ QRIRITEH A RIS FTHISS oad olf [ar4] oifar] & Ta-Hgid SR e ggdr &1 Jad:
aRaeH SR g |

4. RDId® A&l 3R WU a1 & SRATHR

Options :

68634083585. 1
68634083586. 2
68634083587. 3
68634083588. 4




Question Number : 98 Question Id : 68634021157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Based on Rostow's stages of growth Match List I with List IT

LISTI LISTII
A Pomitive society I |Stage III in Rostow's theory
B. [Pre-condition to take off] I1. |Stage IV in Rostow's theory
C. |Take off II1. |Stage [ in Rostow's theory
D. [Drive to maturity IV |5Stage 11 in Rostow's theory

Choose the correct answer from the options given below:

1. A-I. B-IIL, C-I1. D-IV

[ ]

CACIIL B-IV, C-1, D-IT
3. A-IL B-1. C-IV. D-II

4. A-IIL. B-IV. C-I1. D-I
Options :
68634083589. 1
68634083590. 2
68634083591. 3
68634083592. 4

Question Number : 98 Question Id : 68634021157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 161 a1 11 e sifore

T 1 T I
A |enfEeram gue| 1 Rl & [sid @1 i 2w
B. [geidH qd-RUfd | 1. RRel & Rigid &1 1v W]
C
D

 [gamgA 111. Ri%e] & [Ugid &1 1 930
_[ied 3+@ IV. Riel & fegid &1 11 930

FafdRad f[deedl § U U8l SR &l 944 ST ;

1. A-I. B-1II. C-I1, D-IV

[ ]

AL B-IV., C-I, D-II
3. A-IIL B-1. C-IV. D-II

4, A-III. B-IV. C-II. D-I
Options :
68634083589. 1
68634083590. 2
68634083591. 3
68634083592. 4



Question Number : 99 Question Id : 68634021158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Statements related to international labour organization (ILO)

A Established in 1919

B. Under the 'Treaty of Versailles'
C. India 1s a founder member

D. Right to social service

E. Labour is not a comodity

Choose the correct answer from the options given below:

1.A.B.C.D only

b2

.B.D. C. Aonly
3.E.D,C.B only

4. A, B.C.E only
Options :
68634083593. 1
68634083594. 2
68634083595. 3
68634083596. 4

Question Number : 99 Question Id : 68634021158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRIPT i 18 (1L0) T Fal¥d Syl IR [d9R S -

A 1919 H I 5%

B. 3917 &1 T & ded

C. YRd U TTH J5 ©
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=4 feu T fasedi o 9 96t 3Tk &1 98- Difulu;
1. 94U A, B, C.D

. ®ddB.D.C.A

3. 944 E.D.C, B

4. $dd A, B, C.E

Options :

68634083593. 1
68634083594. 2
68634083595. 3
68634083596. 4

| )



Question Number : 100 Question Id : 68634021159 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The industrial commission was appointed in

1.1912

| )

. 1916
3.1919

4. 1920
Options :
68634083597. 1
68634083598. 2
68634083599. 3
68634083600. 4

Question Number : 100 Question Id : 68634021159 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST ST 1 164 by au foban am Um

1.1912
2. 1916
3.1919

4. 1920
Options :
68634083597. 1
68634083598. 2
68634083599. 3
68634083600. 4



